
Formulário

P (X = x) =

(

n

x

)

px(1− p)n−x P (X = x) =
e−λλx

x!
P (X = x) = p(1− p)x−1

x = 0, 1, . . . , n x = 0, 1, . . . x = 1, 2, . . .

E(X) = np V ar(X) = np(1− p) E(X) = V ar(X) = λ E(X) =
1

p
V ar(X) =

(1− p)

p2

P (X = x) =
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M

x

)(

N −M

n− x

)/(

N

n

)

fX(x) =
1

b− a
, a ≤ x ≤ b

x = max {0, n−N + M} , . . . , min {n, M} E(X) =
b + a

2
V ar(X) =

(b− a)2

12

E(X) = n
M

N
V ar(X) = n

M

N

N −M

N

N − n

N − 1

fX(x) =
1√

2πσ2
exp

{

−
(x− µ)2

2σ2

}

, x ∈ IR fX(x) = λe−λx, x ≥ 0

E(X) = µ V ar(X) = σ2 E(X) =
1

λ
V ar(X) =

1

λ2

X̄ − µ

σ/
√

n
∼ N(0, 1)
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√
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+
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2
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n
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1
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a∼ N(0, 1)
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1
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∼ t(n1+n2−2)

(n− 1)S2

σ2
∼ χ2

(n−1)

k
∑

i=1

(Oi −Ei)
2

Ei

a∼ χ2
(k−β−1)

r
∑

i=1

s
∑

j=1

(Oij − Eij)
2

Eij

a∼ χ2
(r−1)(s−1)

Yi = β0 + β1xi + εi β̂0 = Ȳ − β̂1x̄ β̂1 =

n
∑

i=1
xiYi − nx̄Ȳ

n
∑

i=1
x2

i − nx̄2

σ̂2 =
1

n− 2

n
∑
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(

Yi − Ŷi

)2
, Ŷi = β̂0 + β̂1xi σ̂2 =

1
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n
∑
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